EANRAROBREIEHRT — 2 N—XBISYH —F 201244858 (&) 1EEME3A

IRV >%4mLE C2— BRI R
[KE4£] 1% :250,000 " ~ 23#%&:45000M  3#&:22,500"  4#&:12500M8  57#&:7,50 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N NESSrZEeas #o4 | Khi 1:(3_1).6 4-5-2-1 |39.0| — | 1 | 501 Ei?“ (EH)
QTUBARILE B TA R F— b 02| Hlams
ol11|3H-74-54 M4 glgfhoi (12312/20) 4-4-4-3 |39.3| — 2 (ﬁg) Eiﬁ;i (Em)
LHIITLIFL N BiTH-—~N=—Jz b S Hig
- DIERIS&D f 6 | FERE L I L e IR P58 (Fa)
QYR IYRTIR B AK—F 4T O Doy
alzlg|71vona— 4 6 ’sr’é*géw‘ﬁ (11:332/.5 1-1-1-2 [ 40.0 | — 5 | 446 Eﬁgﬂ_?ﬁ (Gl
RHISNIY L F— B4y IUT54 (-3) oh) |45
sl7l7 | Fax- # 5 s»fgi%éﬁ— 1:(342).9 8-8-9-8 [39.4| — | 3 | 474 ﬁ%%ﬁéﬂﬂ)
L:ZRTT 42X — B:TULEZXAUN (#5) %Mﬁzt%
6l5ls B 5 i 6 gﬁ%ﬂé— 1(73355) 10-10-7-6 | 39.0 | — 7 451 g;ﬁf ()
LA TR BN—TNRE— U peysprift
71gligl 7>y v —u— o8 | AR 1:(3233.3 6-6-6-6 |40.2| — | 8 <4+327) 2%%? (#a#3)
LixA4ag49 Ry B 749760 pNCre]
glglg|R77LZ1 b f 5 | BAFE e 2235 (417 = | 10| 470 |BHHE (P
LT v IRy BiEa—T1 TNV 1L SN eSS
9 | Iot—~AfO- i 4 Eﬁ;ﬁzr (13314/27) 6-7-10-10 | 40.9 | — 9 | 394 éﬁ:? (Em®)
R:EYAYAY BILF—N— b 49| parpigsg
10BY 3| AxH T H o4 f_}’g‘ﬁﬂ“f 1(73?1:)7 9-9-8-9 |40.7| — 6 | 452 ;J]:ﬁgé j{mﬁ
R:Z2ZXHwL A B:DI—d—ZXAH (-6) S
® 1—F—@EBIERL
1T=7r= 8,9,6,(1,4),(2,10),7,3,5
20—F— 8,9,6,1,4,10,2,7,3,5
== 8,4,9,(1,6),10,5,3,7,2
40 —F— 4,8,1,6,9,(5,10),7,3,2
[ N5
BB 4 150 | | 74 K 1-4 1403 | | # & 1-4 210 | | 3E4E 1-4-6 490/
B B 4 100M 4-6 220M B = 1-4 220M JEE 4-1-6 1,480M
1 100M 1-6 380 B E 4-1 360/
6 150M

ABICOVWTRDTEEERROODE. TR LIV,



